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(iv)

(v)

(vi)

(vit)

5G Fv7-97 4 34 F97 & | @t 397 SrAard &

T8 Jv7-97 gt @USl 8 fF9rfaid 7 -

&g & - A I

@S & - YRAT 3T fahrg

5 J97-UF 7 Uh-UF 3% & 20 TgAHehT To7 8 |

3G Jo7-U7 4 di7-d17 3% & 4 TG-ITIT JHR-1 F 97 8 57 37 60 @ 80 Irsg)
7 for@ @7 =T |

$F Fv7-97 § GR-R 37H] & 6 TY-IHIT FHR-II & T97 & 1979 I 80 & 100
weg] 4 for@ s =ifeT |

3G Y- H T:-5: 3H & 4 §5-309 JHR & T97 & 578 3 100 G 150 Frsg)
7 for@ s =i |

Y% J97 & GHT Y777l & % U @i 7@ i =Ry |

WUE &
qufte srefyme
I FHRON o AYNG(d T W, Ife TSI IR T = dad I hiuag et
3, @ T8 T ThT B |

(Teh T A & foiw @&l fasheq &1 =@ hifSe) 1

(a) SR =R H Jfg

(b)  SAUR =T | il

(¢) SR °1¢ | his qRad &l

d) facsht gg1 wer ¥ g uftadq &

TgaH i foh, efafad § @ SiH-81, YRdiT fod d% &1 T S8 7577 2 |
(T Tashey o1 =34 hifTe) 1

(a)  HgT 3mqfd e

(b)  TTUIfS¥eh Sohl hl RUT YETd
(c) TR I qMMYH Soie I Tt &I Tord!

¢

(d)  HE K Fridesdt / SRl
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General Instructions :

Read the following instructions carefully and strictly follow them :

(1)

(i)

(iii)

(iv)

(v)

(vi)

(vit)

This question paper contains 34 questions. All questions are compulsory.
This question paper contains two Sections :

Section A — Macro Economics

Section B - Indian Economic Development

This paper contains 20 Multiple Choice Questions Type questions of 1 mark
each.

This paper contains 4 Short Answer Questions Type-I questions of 3 marks
each to be answered in 60 to 80 words.

This paper contains 6 Short Answer Questions Type-II questions of 4 marks

each to be answered in 80 to 100 words.

This paper contains 4 Long Answer Questions Type questions of 6 marks each
to be answered in 100 to 150 words.

Attempt all parts of a question together.

SECTION A

Macro Economics

Keeping other factors constant, if the price of crude oil falls in the
international market, it may lead to

(Choose the correct alternative to fill up the blank) 1

(a) increase in trade deficit

(b)  decrease in trade deficit

(c) no change in trade deficit

(d) no change in the foreign exchange reserves

Identify, which of the following is not a function of the Reserve Bank of
India. (Choose the correct alternative) 1
(a)  Controller of money supply

(b)  Credit provider to commercial banks

(c) Central agency preparing the annual budget of the Government
(d)  Issuer of currency

58/3/2 3> 24 P.T.O.
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ffarfiga el o1 eaHgde afeu :

HY71: 3% H WU A, WRAE YA e & =] @Id o Siee 98 H
ot T Sma |

FYT2: WA W I I foEt geema faw (FID) 1 sfgatg (outflow)
ISt @Td % ShiSe U8 H ol [ohdl ST |

feu TTu el o aTqres H, FEfRad 9 € w8 foehed w1 =9 HINT
(a) U 1T B 3N HUH 2 3 2 |

(b) U 1T R I FT2TA R |

(c) YT 13 23 acg & |

(d) I 13 2 A WA F |

() Tr=fafaa st 1 eamgEs ufeu

HY7 1: Tk = Bl GHA % T (oG T HIAT S 3 |

FY72: YATE T g Tieh =X Th T Bd & |

feu U SeFl & I H, =faiad # 4 @) faehed o1 =34 hifvie
(a) YT 1T 8 N HYF 2 T 7 |

(b) I 1A g I FH 2T 8 |

(c) WY 1R 2¢H T 2 |

(d) I 1R 2 AT A 7 |

AAAT

i) T=faRea @ @, yar = 6 vg=m AN (= fawen &1 =1 Hif)
(a) Toooll 9 maet & wea 61 gl

(b) U foame™ =1 a1 =¥
(c)  31HM, 2022 ! i Hohs1 hl S H SIHT G
@ 31 femrr, 2021 1 ot Afgd & Faw
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Read the following statements carefully :

Statement 1 : Import of gold from Dubai will be recorded on the debit

side of the current account in Balance of Payments of
India.

Statement 2 : Outflow of Foreign Institutional Investment (FII) from

Indian stock markets will be recorded on the credit side of
the capital account.

In light of the given statements, choose the correct alternative from the

following : 1

3.
(a)
(b)
(c)
(d)
4, (1)
(ii)
58/3/2

Statement 1 is true and Statement 2 is false.
Statement 1 is false and Statement 2 is true.
Both Statements 1 and 2 are true.

Both Statements 1 and 2 are false.

Read the following statements carefully :
Statement 1 : Stock variables are measured at a point of time.

Statement 2 : Flow variables and stock variables are same.

In light of the given statements, choose the correct alternative from
the following : 1

(a) Statement 1 is true and Statement 2 is false.
(b) Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and 2 are true.
(d) Both Statements 1 and 2 are false.

OR

Identify, flow variable from the following :

(Choose the correct alternative) 1
(a) Distance between Delhi and Amritsar
(b) Annual expenditure of a school
(¢c) Bank balance of Mr. Mukesh as on 315t March, 2022
(d) Investments of Mr. Mohit as on 315t December, 2021

o> 5 PT.0.
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TG hrad Soh, JTITEAT § HgT ATY(d sl A HEAT AT8dl &, I I8

& Gohdl 3 | (Th T W & foT g&l faeheq o1 =9 hifom)
() o @HIMg
(i)  Tohg SIRI&T I | HHl
(i) Gt IR § gfavfet & fospa
(iv) g SR H Shifei &1 5
ICETR I
(a) (1) 9 (ii) (b) (1), (1i1) I (iv)
() (), 1) T (Gv) (d @), ), ([ a [Gv)
(%) vgaH = T, Ffafega & @ sH-a1, yra & fae fogeft ggr 1 @@
TET 2 | (Tl faehew o1 =3m HIf)
(a) Tocert =1 a¥qaTi @ dansti o1 =i
(b) foee & wrda worgdl grr ST
() foeen & a&qatt o Qe 1 AT
(d) A SAfemeTse futar grn geaet faesht faer (FDI)
reran
(@) oW 19 I1H 3 TE Al i eAHYash dfey a9 fgu mu fashedi & @ @&
IH 1 T HINT :
HicTH 1 HicTH 11
i. YA FFoHT gRT |iwee ik 1 | 1. | foesft ggr Y wim
frata
i, | e s THREISH Yol 2. | ¥ I
iii. |<He i TP Tl 3. | TR-Y e
iv. | #ficeRt ol mieeh Hehe | fean | 4. | foesht ggr ft ey
TR SO
farpe -
(a) i-1 (b) ii-2
(c) 1i—3 d iv-4
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5. If the central bank wants to reduce money supply in the economy, it may
(Choose the correct alternative to fill up the blank) 1
(1) increase Bank Rate

(i1)  reduce Cash Reserve Ratio
(i11)  sell securities in the open market

(iv)  buy securities in the open market

Alternatives :
(a) (1) and (iii) (b) (i), (ii1) and (iv)
(¢) (1), (ii1) and (iv) (d (@D, @), (iii) and (iv)

6. (A) Identify, which of the following is not a source of supply of foreign
exchange for India. (Choose the correct alternative) 1

(a) Exports of goods and services abroad
(b) Remittances by Indian workers working abroad
(c) Imports of goods and services from abroad

(d) Foreign Direct Investment (FDI) by a German automobile

manufacturer
OR
(B) Read the items given in Columns I and II carefully and choose the
correct pair of statements from the given alternatives. 1
Column I Column 11

i. Export of software by an | 1. | Demand of foreign currency
Indian company

1. Accommodating nature 2. | Profit motive
of transactions

1ii. Autonomous nature of 3. | Non-Profit motive
transactions

iv. Loan forwarded to Sri 4. | Supply of foreign exchange
Lanka during its
economic Crisis

Alternatives :
(a) 1—1 (b) -2
(c) 1i—3 (d) iv—4
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7. Tafafea st ot dfgu @ stfiepem (A) 3t o1 (R) | 9 few o faemreut @
T U Tdl faehew gihw
YT (A) : TAMRG qod 9 FeArRd o st ot wohgel & s 8
2ld |

HRU(R): 3 % GdoH &R W, 8 Tehdl & G0 HIT, T Ifd & SR
EEE

ICETE I

(a) AMHAT (A) 3 HROT (R) T T & 3 HR0T (R), TR (A) I
Hg! ST HLdT § |

(b)  IYHY (A) 3T HRUT (R) THI T &, Afhd HRUT (R), MHHAT (A)
1 HE AT FgT HT © |

(¢) 3T (A) T 3, Wfhd HRUT (R) I8 3 |

(d) 3R (A) ITHT B, Afehd SR (R) I 7 |

8. Tr=fafgd el =i gfgu : AfReA (A) 3R %O (R) | 19 U 7T faeheqi |
ﬁ@‘v’lﬁﬁ%‘?ﬂﬁ? 1
STYHYT (A) : IFA ITAN TG (APC) 1 Hed HHl off I 3121 RoMcHh

&l B TR B |
HRU(R):  3Hd ITHN YGd (APC) 3T & T d T&ad gl @ |
faerey -

(a)  ITHI (A) 3 SR (R) THI T & TR RO (R), AMHT (A)
g ST KT 7 |

(b) AR (A) IR ST (R) Al TF 8, Afhd HRUT (R), AMHAT (A)
1 & e T w2 |

(¢) IR (A) T 3, Wlhd RO (R) I8 3 |
(d) IR (A) T B, Afehd SR (R) T 7 |
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7. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Ex-ante savings and Ex-ante investments are never equal

to each other.

Reason (R) : At equilibrium level of income, aggregate demand may not

be equal to the aggregate supply.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

8. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : The value of Average Propensity to Consume (APC)

can never be zero or negative.

Reason (R): Average Propensity to Consume (APC) is independent of
the level of income.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

58/3/2 9> 24 P.T.O.
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9. Trfafad oMl &l eaHgE® afeu
Fo71: Ad B TN Bad H Jdd (derive) ThaT ST Tehar 7 |
HYT2: AU G5k Hod Y fohg § TREH BHT AT |
feu U seFT % AT H, Efaiad # ¥ wE) ooy w1 =e hifve
(a) Y 19 3 AR HH 2 3WA 7 |

(b) HIT13EI LN FIT2TT 2 |
(¢) HIT 13N 22 T B |
(d) HIT 13 22 3T B |

10. () 3 T rdeuaen °, fos o 1 god 5 99T 3§Ed (—)100 HS 7,

@ T 1,400 HUS & Y T | Efh s=d T g B |
(feh T WA & forw @&t foepew &1 = i)
(a) 80 (b)y 180
(c) 140 (d) 240
HAUAT
(i) 9 T H Yed |ed o % mey Wl 7 |

(Teh Tl ot 9 & fou @&t faehew o1 =@ hifs)
(a) [ (0), I (o)
(b)  THE (+ 1), I (o)
() I (0), TS (+1)
(d)  RUICHS $HTS (— 1), 3HT8 (+ 1)

11. 779 fafamg ot yorel & farla fafma e & Fufor 6 989 8 fae=mn hifse |

12.  ($) ‘Yo ARRY o 9 Tl hl T&T T ==@] hifeg |
reran
(@) u= e g F=feifaa e o1 aueH rear @eq HIfu

“ITIefiEa AT=E o HRO el IiEdtd o qod H wH HI qoas™
Rﬁ% |’7
58/3/2 B
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9. Read the following statements carefully :

Statement 1: Savings function can be derived from Consumption

function.

Statement 2 : Consumption curve must always start from the point of
origin.

In light of the given statements, choose the correct alternative from the

following : 1

(a)  Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d)  Both Statements 1 and 2 are false.

10. (1) If in an economy, the value of Investment Multiplier is 5 and
dissavings are (—)100 crore, the relevant savings at income level of

T 1,400 crore would be T crore.
(Choose the correct alternative to fill up the blank) 1
(a) 80 (b) 180
(c) 140 (d 240
OR

(ii) The range of value of Investment Multiplier is always between
and . (Choose the correct alternative to fill up the blanks) 1

(a) zero (0), infinity (e)
(b) one (+ 1), infinity (co)
(c) zero(0),one(+1)

(d) minus one (— 1), plus one (+ 1)

11. Discuss briefly the determination of exchange rate under the flexible

exchange rate system. 3

12. (a) Discuss briefly the three components of ‘operating surplus’. 3
OR

(b) Defend or refute the following statement, with valid argument : 3

“Depreciation is fall in the value of an asset due to unexpected
obsolescence”.

58/3/2 11> 24 P.T.O.
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13. (%) Tm=fiied g1 1 SHYEs A=A hHIT

“grdia ford a6 i Aifes fifa afafa (MPC) 7 g &t 0 W @ 50
YR 7Rt hl ghg hiT 8 | IdHH H I8 S 540% &, afh fad W

I 3-35% W AqNEfdd W@l ™ 7 |7

() 39w T H 3IfcaRad @ Hifge Hifd TR K Fhld h TgEH
HIfT |

(i) wifgss ifq afufa g @ @ 4 ghg o 918 & |Gwilaa st T
EIRCEECIEA IS

areran
(@) AW AT fh T e rderasen § ey § = Am 6 feafa
formme 2 |

AT W 3Gk THTad YHTEl <hl Tierea foa=m T iy |

14. 39YH HEATCH IS H1 FART Hd §U, Th hledi-eh Fdeqaedl §, dfem
JurTedt <h B fHHtor gfshan ki s i |

15. | SANT foh T Hiedieh stefeawen & ai § fmfoiiad g=em 3uesy ¢ -
C=200+075Y (J&f C =399 9 Y = 1)
I, = 300 (1, = Tama o)
& TS YT % IMYR R Fefcfaad i TomT i

(a) 3T oI Aga T

(b) T % G TR W FHY AT
(c) H¥d s=@ ygfd
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13. (a) Read the following information carefully :

“The Monetary Policy Committee (MPC) of the Reserve Bank of
India (RBI), recently increased the Repo Rate by 50 basis points.
The Rate stands today at 5-40%, whereas Reverse Repo Rate was
left unchanged at 3:35%.”

Answer the following questions :

(i) Identify the nature of the two monetary policy measures

mentioned in the above text. 1

(i1) Elaborate the likely economic rationale behind the increase in

Repo Rate by the Monetary Policy Committee. 3
OR

(b) Suppose an imaginary economy is facing a situation of deficient
demand in the short run time period.

Discuss briefly, the probable impacts of the same on the economy. 4

14. Using a suitable numerical example, explain the credit creation process
of the banking system, in a hypothetical economy. 4

15. Suppose the following information is given about a hypothetical

economy :
C=200+0-75Y (where, C = Consumption and Y = Income)
I, =300 (Iy = Autonomous Investment)

Calculate the following on the basis of the given information :

(a)  Equilibrium Level of Income 2
(b)  Aggregate Demand at Equilibrium Level of Income 1
(c) Marginal Propensity to Save 1

58/3/2 13> 24 P.T.O.



®collegebatch.con

16. (%) () ‘T & fei O, yRd WHR A Uep-gA-3fear ST & ITad
TRl T&T TEGITT oh SATUUFY W A4k =7 Toham g |7

ST HYT o FTIAR TWHR g fohe I It gl g1 sote =i
I Tg9M 9 ==l i |

(i) GEhR T FF o foheal 2l IR 1 I hITIT |

AAAT

(@) () < fE, dus 3 P9, T & H SRR g vz (faamt) aeqst
W GST T H lg & Y™ W F=l @ o | Y H = o 6
Tfeehrer Uged Wi aegel (W9 T fageft ywor, smenfaa fame,
M) W ITcATYeh o TR SIHT SET Selfeh TS 3T A ot
¥ gefod i 3uan 6t Iy H-GE |
Y TR S9C o 199 I3 o 9K H @ ¢ @ @, SHoh! IgaH

T T HIVT |
(i) GRR I o ITad iy =91’ &l 319 9d18U |

17. Tr=fafea T+ eHgEs ufeu :

Hifde-19 % IWd ¥R H, Fsft 1fqw 39 == (PFCE) g1 |19 T Sic] 9
st & o1 Iua (Aifess &9 #), T 897 fefermm (FY 23, Q1) o it fo 7 o
3t srafa °§ = 28-4 fofermm o | o 2021 — 22 (FY 22) <t =nheft faamet (Q4)
Jg = T 39-2 foferam o |

Hifgeh GDP % Sfawrd & &9 # focfiwr ad 2022 6t vgeht el (Q1 FY 22) i
55-5% % gl PFCE 61-1% &1 | gcliich adiash &9 H fRR Shmdl w,
Hif9e-19 ¥ Th a9 T, 2019 — 20 % Q1 1 g1 § PFCE | HH 9-88% hl

Jig ol g8 ot |
58/3/2 s
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16. (a) () “In the recent times, the Government of India has incurred a
lot of expenditure on acquisition of indigenous defence items
under ‘Make-in-India’ programme.”

Identify and discuss the two types of budget expenditures
which may by undertaken by the Government as suggested in
the above statement. 4

(ii) State any two examples of revenue expenditure of the

Government. 2

OR

(b) (1) Two friends, Deepak and Krish were discussing the impact of
increase in GST rates on luxury items, as recently undertaken
by the Government. Krish was of the view that most of the
luxury items (like foreign travel, imported cigarettes, etc.)
should be taxed exorbitantly, while the items related to daily
consumption of poor and middle class should be tax-free.
Identify and explain the objective of the Government budget
Krish is suggesting. 4

(ii) State the meaning of ‘primary deficit’ in the government
budget. 2

17. Read the following text carefully :

In India, after Covid-19 period, household and private sector

consumption, as measured by Private Final Consumption Expenditure
(PFCE), was ¥ 39-7 trillion in nominal terms in Q1 FY23, compared with

T 284 trillion for the same period last year, and ¥ 39-2 trillion in the
fourth quarter (Q4) of 2021 — 22 (FY22).

As a percentage of Nominal GDP, PFCE was 61-1 per cent, compared
with 55-5 per cent in Q1 FY22. However, in real terms at constant prices,
PFCE grew just 9-88 per cent, compared with Q1 of 2019 — 20 — the year
before the Covid-19 pandemic.

58/3/2 <15 > 24 P.T.O.
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oft €. sffareaa 3 sarn o6, “SRe] 7 # g9 PFCE 9 GFCF (Fha Tomri

aoft fomifor) <t afg o (7 o 6t Fra fomrdt S g #) & ity gar g 17

GFCF foxia a9 2022 i vgelt famal (Q1 FY22) % T 14-4 Tfere &1 gam &

facfa ad 2023 1 vl fammEl (Q1 FY23) § T 19 feford W wg= T 2 |

gTalteh I8 focfta ad 2022 i =teft fardt (Q4 FY22) & T 20-2 feferm i

AT H ST I A 7 |

GDP sl < qvaTq Ush Hifean st ®, fad afua 4.3 giwamem 4 et 6

I Ygia o7dfera off ifh aawE Q1 H GFCF 7Td 99 o Q4 % Sf-edd HH=Ia:

0 Bl off |

fou MU T 9 e gme % enuR W fEfafea weEt % 3w G

(%) drdfass d Hifge GDP % Yfaed & 9 § PFCE & &1 | uftad &
ot 9 fageiyor i |

(@) “9NR 9ed W dohdl TRe] 3cdTg 1 HaRor & # fisht oifay suwm ==
Tsh HEQU R @ | fCU T hed 6l gfte HifT |

ECLCEC)
TR 3Tieier fererma

18. (%) THfIRaa fosedt # &, NITI ™A | NITDP & I8! q0 &9 ! qgaH

(a) National Institution for Tribal India
(b) National Institution for Technical India
(c)  National Institution for Transforming India

(d) National Institution for Training India

AT

(|) T |, TR 1 LWiiHcd 9 e, Tasi-eh d el
At & g Tk S # |
(feh T W & forw @&t faeheq &1 =@ hifoo)

(a) HHSEE! (b)  YSiterel
(¢c)  SHdI=h d) fafsa
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“Recovery in domestic demand is reflected in the growth rates of PFCE
and Gross Fixed Capital Formation (GFCF) over the corresponding
quarter of the previous year,” said D.K. Srivastava. GFCF came in at
T 19 trillion in Q1 FY23, compared with ¥ 14-4 trillion in Q1 FY22.
However, it was slightly lower than ¥ 20-2 trillion in Q4 FY22.

In the media briefing after the GDP numbers, Finance Secretary
T.V. Somanathan said this trend was expected as GFCF in present Q1
was usually lower than the previous year’s Q4.

18.

58/3/2

On the basis of the given text and common understanding, answer the
following questions :

(a)

(b)

(A)

(B)

Compare and analyse the trends of change in PFCE as a

percentage of GDP, both in real and nominal terms. 4

“Private Final Consumption Expenditure is an important factor
determining Gross Domestic Product at Market Price.” Justify the

given statement. 2

SECTION B

Indian Economic Development

From the following alternatives, identify the correct full form of
‘NITT in NITI Aayog : 1

(a) National Institution for Tribal India
(b) National Institution for Technical India
(c) National Institution for Transforming India

(d) National Institution for Training India
OR

In a economy, resources are owned and operated by both
public and private sectors.
(Choose the correct alternative to fill up the blank) 1

(a)  Socialist (b)  Capitalist
(c) Democratic (d) Mixed

<> 5 PT.0.
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Frafafaa e & ded # g8l fasew &t yg=m HINT

“1966 — 76 % HEF, WIS 4 39 eI hl Y fehaT o1, g 3Taviq
BET F UNEU hl HRA HE o [T =Tk UM AR H T
STforeh St ferfaet & digs & e st mam on |7

(a)  HFgd Ut

(b) U AU HILaS

(c) Td gR i Aifd

(d) TEM HEERI HEhideh T

areran

frfafea et @l eHgEes afeT

H971: DN &A H, HEIN hl TATYT i T3, &l YW SHql 1 T&Tcd
ST TEEl Wi STrEfed foRam TR o |

FY72: T o7fdw &7 (SEZ), faceh faw o senfishl =i it
T o ToTq Tmva fope 1T o |

feu U oMl & I H, =faiad # 4 @) faeed o1 =3H hifvie
(a) YT 1T 8 I HYH 2 3HH 2 |

(b) YT 137HHT & AN HAT 2T 2 |

(¢) YT 1R 251 AT 7 |

(d) HF 13N 2T A 7 |

AT TT@ HRIsHA T Tefeaee o Try faehm @i gHfvad o |
eyl fieet A B, i d |
(feh T WA & fotw g&t fasheq &1 =@ hifso)
() oo wEmar Ye@ W &
(i) AT Gfthehtol e Hd &
(i)  Nd=Ties @@ (R0T) Jed! <l 989 | gig L &
ICETR R
(a) had (i) T (i)
(b)  <had (ii) 9 (iii)
(c) <had (i) 9 (iii)
(d) (@), (1) (ii)

AT

1
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Identify the correct alternative with reference to the following

statement : 1
“Between 1966 — 76, Mao introduced this movement under which
professionals and students were asked to work and learn from real

life situations prevailing in the countryside of China.”

(a) Commune System

(b) Great Leap Forward

(c) Open Door Policy

(d) Great Proletarian Cultural Revolution

OR

Read the following statements carefully :

Statement 1: In the agricultural sector, communes were
established, where land holdings were allocated to
individual households for ownership.

Statement 2 : Special Economic Zones (SEZs) were established to
attract foreign investments and technology.

In light of the given statements, choose the correct alternative from

the following : 1
(a) Statement 1 is true and Statement 2 is false.

(b) Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.

Micro credit programmes play a vital role in ensuring an overall
development of the rural economy as they
(Choose the correct alternative to fill up the blank) 1

(i) provide financial support
(ii) lead to women empowerment
(iii) enhance the reach of formal credit system
Alternatives :
(a)  Only (1) and (i1)
(b)  Only (i1) and (iii)
(c) Only (i) and (iii)
(d) (i), (i1) and (iii)
OR

5 PT.0.
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(@) ShIfd < UTHIOT |R@ JUmTel ® 9igd 9 qiadd 1 godTd fepa
oqT, wifeh 394 UTHIUT foehrd o fafyral =reehl o1 Scdtesh RN <hl 3T
3@ X fafagdt ygm 1 off |
(Teh T 9 & forw @&t fasheq &1 =@ fifSe) 1
(a) ¥ad (b) T
(¢ el d =@
21, “uifReam # offder A ¥ MEHar & YH: A o g HRU FAC S Hehd
%l,’
qge+T foh, f=fiad § 9 H-91 399 § U 787 8 9ehdl | 1

i)  faesf o @ et v

(i) TR soues (Tufe) v Gohas

(i) AR PN forpE

ICET I

(a) (1), (i) 9 (iid)

(b) (i) I (iii)

(¢) ()9 (ii)

(d e (i)

22. (&) T FANFRISAREA (CFC) Al o =1 A9 =il
AT & ITAN W Iidae T & Gehed ahl 3TYRT |
(feh T 9 & T @&t fasheq &1 =@ hifSe) 1
(a) IR Wehid
(b)  UfE WA
(c) Wif2aa Wieihiad
(d) ecis A i fEr
AT

(@) TA Soit (TieRefia Ademet) & gaRr, fF=fdfgd § 9 SH-81 gad
forepTa UTed oA <1 feem ° U 3Tava wen 7T ' ? 1
(a) WM& STTEEIT Sl YATEOT hl YROT AT deh HIfid o
(b)  SWTA AT Tehrilehl TTf
(c)  ToTohTuli™ FETLHT o TASRNUT sl G S hi L | A4 T &
(d)  JGHYT h HRU IcuH HALHATAT H IR
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revolution was the harbinger of major changes in the
credit system as it led to diversification of the portfolio of rural
credit towards production-oriented lending.

(Choose the correct alternative to fill up the blank) 1
(a)  White (b)  Silver

(¢) Blue (d) Green

21. “Multiple reasons for economic slowdown and re-emergence of poverty in
Pakistan may be enumerated.”

Identify which of the following might not be one of them. 1

(1)
(i)

Rising dependence on foreign loans
Stable macroeconomic indicators

(iii) Unstable agricultural growth
Alternatives :
(a) (1), (i1) and (iii)
(b) (i) and (iii)
(¢) () and (ii)
(d)  Only (i1)
22. (A adopted the resolution to ban the wuse of

Chlorofluorocarbon (CFC) compounds along with other ozone
depleting chemicals.

(Choose the correct alternative to fill up the blank) 1
(a) Kyoto Protocol
(b) Paris Protocol
(c) Montreal Protocol
(d) Brundtland Commission Report

OR

(B) According to Herman Daly (an environmental economist), which of

58/3/2

the following is not an essential step towards achieving sustainable

development ? 1
(a) Limiting human population to carrying capacity of the
environment

(b)  Input inefficient technological progress

(¢) Rate of extraction of renewable resources should not exceed
rate of regeneration

(d)  Correction of inefficiencies arising from pollution

<> 5 PT.0.



®collegebatch.con

23. ffdfiga oAl ot afeu ; AR (A) 3T %R (R) | = few e foepedi o
T U dal faehed 9T

STYHIT (A) : TR TRy a1 I HEHAT o HIETH | SIS i A
T HT TAH H Fhl @ |

FRU(R): A FEAa1 IVH HEHA T a1 T0F I F U o
g |
ferehed

(a)  ITYHI (A) 3 SR (R) HI T & JN HRUT (R), ATMRAT (A) hHI
Hg! ST AT § |

(b)  IYHY (A) 3T RO (R) THI T &, wihd HRUT (R), JHAT (A)
1 T ST 7T AT R |

(¢) IR (A) T 3, Wlhd RO (R) I8 3 |
(@) 3R (A) T 7, Afehd SR (R) I 7 |

24. T=fafga wumt = ufgu : afirpem (A) 3t R (R) | Fi9 few e faspedi o
T U Tdl faehew gihw

7B (A) : TEaAdT 3, Tediaes & § 9l Faw &t Tavashdl o SR
T &3 ! TgE it ¢ T8 off |

HRO(R):  3Naiies &5 feh ot srofeuaeen i fig i ggdl 2 |

faeney

(a) AMMHAT (A) 3 HROT (R) T T 8 3 HR0 (R), TR (A) I
g AT KAl 2 |

(b) MR (A) 3T ST (R) ST T &, Afehd ROl (R), AMMHI (A)
1 TE ST 7T AT R |

(¢) IR (A) T 3, Wfhd RO (R) I8 3 |

(d) IR (A) ITEH B, Afehd SR (R) T 7 |
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23. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Government can try to reduce unemployment through

special poverty removal programmes.

Reason (R): Such poverty removal programmes directly or indirectly
lead to employment generation.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.

24. Read the following statements : Assertion (A) and Reason (R). Choose the

correct alternative from those given below. 1

Assertion (A) : Post independence, public sector was given a prominent
role, due to requirement of huge investments in the

secondary sector.
Reason (R): Industrial sector is the backbone of any economy.
Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(c) Assertion (A) is true, but Reason (R) is false.

(d)  Assertion (A) is false, but Reason (R) is true.
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25. UgAiW foh, FMHfIRed @ € ®F-a1 AMa ISl FHivr 9 offdes fasem & 7ew
TcIe] By TG 77 HLar & |

(a) Wb ARMYG ARk I a1 § U Rifera =afw sl ISR ewan 3iferes
GG

(b) ARl 9T UfRIETUT Teh WHGL o hITIed W HHT HUT |
(c) ToY e ATaEd & fu e 7 |
(d) fefea gu arafas awematy o fof o7 o g8 gt 2 |

26. fAfcfigd wem & 9feu : IfReE (A) 3T RO (R) | = feu e fosedi § 9
Q%H’&ﬁﬁlﬁqﬂﬁm
3fFeT (A) : T 91 97 R Afeh FHEAT 1 Teh Fgal Hehdeh 3 |
HRI (R) : A, UTfehed™ o =9 | &1t (male child) s foTT werfiesar

IECEICRR
%IWE[:
(a) AMMHAT (A) 3 HROT (R) T T 8 3 HR0 (R), IR (A) I
Hg! ST AT § |

(b)  AMHAT (A) IR ST (R) Al TcF 8, Afhd HRUT (R), AR (A)
1 &l AT FgT w1 B |

(c) MR (A) TcT B, oifehd RO (R) 3 7 |
(d) IR (A) T 7, Afehd SR (R) T 7 |

27. Trafafad HeAi 1 eIHgEs ufeu
FYT1: <t feeRiEt g SHEe FEee wE § Ted gad fifd” &
U 3TcId THTet @ & o T o |

HIT2: IS [IgHI o IIHR, Tohdd TaH Hid gRI ol 9@ (Y Th
TR JeNi § AigaArsTi i 3q4d) | FRrae i of |

feu U seFl & s H, efaiad # 9 gl faehed o1 ==H Hifve -
(a) AT 1T 3 AN HIT 23T 8 |

(b) HIT 1ITT L INMFI 2T 2 |

(c) YT 13N 2THI TcF 7 |

(d) YT 1A 2TH A 2 |
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25. Identify which of the following does not reflect a direct relationship
between human capital formation and economic growth. 1

(a) Employability of an educated person is higher than that of an
uneducated person.

(b)  On-the-job training will reduce the skills of labour.
(c) Healthy workforce is a boon to the economy.

(d)  Digital information helps in taking real time decisions.

26. Read the following statements : Assertion (A) and Reason (R). Choose the
correct alternative from those given below. 1

Assertion (A) : Lower child mortality rate is a better indicator of gender
equality.

Reason (R): Preference for a male child exists in India, Pakistan and
China.

Alternatives :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d)  Assertion (A) is false, but Reason (R) is true.

27. Read the following statements carefully :

Statement 1: ‘One-child policy’ was very effectively used in controlling
the population by the Chinese authorities.

Statement 2 : One-child policy, according to scholars, led to a decline in
gender ratio (the proportion of females per 1000 males).

In light of the given statements, choose the correct alternative from the
following : 1
(a) Statement 1 is true and Statement 2 is false.

(b)  Statement 1 is false and Statement 2 is true.

(c) Both Statements 1 and 2 are true.

(d) Both Statements 1 and 2 are false.
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28. “Ush wXf=d Y FT T T &F W fow et stavee 7 17
T 39 U 7T oM ¥ TEHd & ? T doh g 379 I <hl gt HifT |

29. ()
(@)
30. ()
(@)

S THeh-THEEIT AT hl TRYTNT HITT qAT $HhT Had FdTST |

teran
‘aa IS 9 Aee T’ 1 fadg AT |

“&g 1ol a7 Wid § TR 1991 1 omfde gum wik 4 Y & W
gfepet gTE STl 7 17

T MY U T HeA & TgHd & ? 04 IW o 9§ H T qoh T
i |

AACT

G)  Tefew s s hi senfires fifa 6 el @ il i samen
SHifST |
(i) YR J=edia JSHT iR o IR 323l o1 91 fdfgu |

31. T=faRaa arfer &l eaHYEs afeT :

137 7] 4 39157 Fhg 1 Igraar, 1980 - 2015

&7 1980 — 90 2011 - 2015
HIY FET gar HIY JETT a7
A 31 7-4 69 2-3 5 8-4
= 59 10-8 135 41 81 84
qriehea™ 4 77 6-8 2-7 3-4 4-4
fou U aui % RM, WRA 9 JIfhead § ol & H 3Icaed dfg h Sa
(trend) 31 fawersor ST |
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28. “A well-structured agricultural credit system is very essential for the
rural sector.”
Do you agree with the given statement ? Justify your answer with a valid
argument.
29. (a) Define worker-population ratio and give its significance.
OR
(b)  Distinguish between ‘Human Capital’ and ‘Human Development’.
30. (a) “Many economists believe that the economic reforms process of
1991 had adversely affected the agricultural sector.”
Do you agree with the given statement ? Quote valid arguments in
favour of your answer.
OR
(b) () Explain any two shortfalls of the industrial policy under the
British rule.
(i1) Quote the four goals of the five year plans process of India.
31. Read the following schedule carefully :
Trends in Output Growth in Different Sectors, 1980 — 2015
Country 1980 - 90 2011 - 2015
Agriculture | Industry | Service | Agriculture | Industry | Service
India 31 7-4 6-9 2-3 5 8-4
China 59 10-8 13-5 4-1 81 8-4
Pakistan 4 77 68 2:7 34 4-4
Analyse the output growth trend in the three sectors over the given years
between India and Pakistan. 4
58/3/2 21> 24 P.T.O.
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32. W Il g Ieoi@ shifoe T, Fferfiad oM o @ 31eran 319y .
(%) YR rdegaten 4 8 & feai d weiad & g 6 o #
TS Sfa a9 8 |
(@) TRt % IR W AfGArsti 6l Mfdew Wrighl ol ¥ha e 3G H
SgTfehd Tl fopam Smar 2 |
33. (F) (1) U Usg h fohrm o T <t ofirewt shi =men i |
(i) WRa SE Adeaaten ¥ urfior dfhm & Ha &1 Sooi@ i |
AHYAT

(@) () A foErel a9g % B @ ?
(i) e TR (1964 — 66) i fopell T FawIi 1 Sec@ aon
ferererm FifSTw |
(iii) fou mu fuam & srcAre H, gnofia faem ghifeaa s & fore et
Tk WHIfd hl 9891 9 = ity |

Fie: [AEliEa gv7 Faa ghearnfaa ahenfaat & fog 3. 4.
33 (@) (iii) & TIT TWE:

YT o Tl Tk i <l s HifS |
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32. State, whether the following statements are true/false, with wvalid
arguments :

(a) Indian economy has shown satisfactory progress towards
formalisation of the workforce in the recent past. 2

(b)  Economic participation of women as homemakers is not accounted
for in the Gross Domestic Product. 2

33. (a) (i) Explain the role of education in the economic development of

the nation. 4

(ii) State the importance of rural banking in an economy like
India. 2

OR

(b) (1)  Who is a casual wage labourer ? 1

(ii) State and discuss any one recommendation of the Education
Commission (1964 — 66). 2

(iii) In the light of the given image, identify and explain any one
strategy to ensure sustainable development. 3

Note: The following question is for the Visually Impaired
Candidates only in lieu of . No. 33 (b) (iii) :

Explain any one function of the environment. 3
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34. frfafaa ma +t eamyEs ufeu

TIAAAT & Y, YR o 3N AT & 394 32T ! I hid o foiw
s¢ Irfeugren Hisd 1 = fohar o | ufomaEd, sfenfies e ITcud
Ul S T o1 | Tl SR, Hraifien fashe yuw 31 gwehl § 9gd i
o, @EdR W gald 9 el diem srafa 4 | fedia as A qw | SShenfies
Shifa’ 1 3T TR o | 39 orafy § g ofenfies fosm gt = uit@ifera g9 &
&I SR 9

()  omfees fifwi § sfemfiet | o |

Gi) Menfies Hfifa @ T & Nefie fashra = gea 329 9 |

(i)  SffENRes & | gHar FHuier % §ue % fau 9l fEw e |

(iv) WIS % TUEThd Jgal o qn Wl IUHArstl i TR & fafve yehm &
T IcaTet i /I H gy |

(v) oRq 99d 9 faeett § Ied SeieEt g g|ida ek faear st fd |

13T 7T e T G GHF % IR T 5171 Fe7 & I G :

(%) ura 6t fgda geadfa asmn S Tmaty & Seai@ HINT |

(@) wra i fgd g=edia ST 61 S foh 81 ST 8 2

(M) fodta 9 g doai SIS o STdd WRA hl dig il faee
TTid o fopeal 1 Rl <hl Tidred == hifvT |
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34. Read the following text carefully :

With independence, India chose the closed economy model in pursuit of
its objective of industrial self-sufficiency. As a result, industrial structure
has become considerably important. In the post-independence era, the
industrial growth was rapid during the first two decades, especially
during the Second and Third Plan period. The Second Plan introduced
‘Industrial Revolution’ in the country. The main reasons for high rates of
industrial growth witnessed during this period were due to :

(1) Emphasis on industrialisation in economic policies.

(i1)) Making industrial growth the main objective in the industrial
policy and planning.

(iii) Huge investments being made to support capacity creation in the
industrial sector.

(iv) Growing demands for a variety of new products on the part of the
urban consumers and the relatively better-off sections of the
society.

(v)  Pace of economic expansion supported by domestic savings and
inflow of resources from abroad.

On the basis of the given text and common understanding, answer the

following questions :

(a)  State the time period of the Second Five Year Plan of India

(b) Who is considered as the Father of the Second Five Year Plan of
India ?

(c) Discuss briefly any two reasons behind the industrial growth
during the Second and Third Five Year Plans of India.
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